
Time: 10 Minutes Paper Science 8 Total Marks: 10

4 Month, 3rd Week, 5th Day Syllabus: Unit # 8 Floating & Sinking without

reference to Density.

Q.No.1 Encircle the correct answer from the following choices. (0.5 <<<< 6 = 3)

ŠŠŠŠgggg̀`̀̀ffffssss~~~~ÐÐÐÐŠŠŠŠgggg„„„„����ZZZZ[[[[»»»»ZZZZNNNN[[[[™™™™,,,,ZZZZzzzzggggQQQQkkkkÆÆÆÆ¤¤¤¤////ŠŠŠŠŠŠŠŠZZZZ]]]],,,,{{{{ÎÎÎÎNNNNXXXX
i. The denisty of a substance relates to the _______ of the substance.

ÐÐÐÐƒƒƒƒ@@@@****ììììXXXX _____ ËËËËqqqqÅÅÅÅeeee&&&&4444oooo----öööö GGGG
EEEEHHHH»»»»mmmmZZZZkkkkqqqqÆÆÆÆ

(a) Speed ê (b) Momentum ñ!54-êG
EH

(c) Mass âk (d) Velocity zÑ;
ii. The formula of density is: eeee&&&&

4444oooo----
öööö
GGGG
EEEEHHHH»»»»ÃÃÃÃggggññññÑÑÑÑìììì::::

(a) (b)

(c) (d)

iii. A substance which sinks  or  floats in water depends on:

ËËËËŸŸŸŸÆÆÆÆ0000****ãããã~~~~ŠŠŠŠzzzz¶¶¶¶cccc****¾¾¾¾ääää»»»»ZZZZ®®®®ggggƒƒƒƒ@@@@****ìììì::::
(a) Speed ê (b) Area Zk,c* (c) Density e&

4o-
ö
G
E

H
(d) Mass âk

iv. A ball of clay sinks in water because its density is:

èèèèÅÅÅÅtttt0000****ãããã~~~~eeeezzzz[[[[YYYYCCCCììììYYYYVVVVāāāāZZZZkkkkÅÅÅÅeeee&&&&4444oooo----öööö GGGG
EEEEHHHH

ƒƒƒƒCCCCìììì::::
(a) Greater than water 0*ãÐic*Š{ (b) Less than water 0*ãÐÁ
(c) Equal to water 0*ãÆ',Z', (d) None of these Ãð7
v. The density is the measure of how heavy something is compared:

££££««««~~~~XXXX¸̧̧̧gggg~~~~ììììXXXX ______ eeee&&&&
4444oooo----

öööö
GGGG
EEEEHHHH

ZZZZkkkkqqqq»»»»eeee::::ììììāāāāÃÃÃÃððððqqqqZZZZkkkkÐÐÐÐ

(a) Mass âk (b) Pressure 6,b (c) Volume zZCx (d) Speed ê

vi. A piece of wood floats on water because: ÇÇÇÇ~~~~»»»»ZZZZqqqq----••••ZZZZ0000****ãããã6666,,,,¾¾¾¾@@@@****ììììYYYYèèèè::::
(a) Its mass is greater than water.   Zk»âk0*ãÅÚic*Š{ƒ@*ìX
(b) Its volume is equal to water.      Zk»zZCx0*ãÆ',Z',ƒ@*ìX
(c) Its density is lower than water. ZkÅe&4o-ö G

E
H

0*ãÅÚÁƒCìX
(d) Its density is equal to water.  ZkÅe&4o-ö G

E
H

0*ãÆ',Z',ƒCìX

Q.No.2. Write short answers.      (2 <<<< 2 = 4) ¿¿¿¿����ZZZZ!!!!****]]]]KKKKXXXX
(i)  What is density? e&4o-ö G

E
H

Hì?
(ii) Why a boat made of metal can float in water as the metal is dense than

water. ÏÖÅYV¯ðYCì?0*ã~¾Cì²Ö0*ãÅÚeßìX

Q.No.3. Write long answer.       (3) ----����ZZZZ[[[[KKKKXXXX
Explain density with different examples. ZZZZVVVVßßßßVVVVÐÐÐÐeeee

&&&&4444oooo----
öööö
GGGG
EEEEHHHHÅÅÅÅzzzzŸŸŸŸssss####™™™™,,,,XXXX
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